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Problem
2:
(10

pts)

D
eterm

ine
the

type
of the

filter
show

n
below

based
on

C, R
1and

R2.

PlotV
0(t)

versus
V
1(t)

for
w

—>
0
and

w
->

_
_

0

+
C

1
+

v1(t)
R2

v
0
(t)

v
R
1





Problem
3a:

(10
pts)

Find
the

transfer function
H
(w
),I H(w)I and

LH
(w
).

PlotI H(w)I on
linear-linear and

log-log
scales.

C
A
J
)=

()

Plot LH
(w
)
on
linear-log

scales.

C
=
3
jiF

+
v1(t)

R
=
lO
kQ

+

v0(t)
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Problem
3b:

(10
pts)

Find
the

transfer function
H
(w
),I H(w)I and

LH
(w
).

PlotI H(w)I on
linear-linear

and
log-log

scales.
g

Plot LH
(w
)
on
linear-log

scales.
4C
ci)

=

L
=
7nH

+
v
(t)

R
=
l5kQ

+

-4-gRE
w

v0(t)

)
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Problem
4: (10

pts)

Find
the

transferfunction
H
(w
),f H(w)I and

LH
(w
).

PlotI H(w)I on
linear-linearand

log-log
scales.JW

1
C
+
i

Plot LH
(w
)
on
linear-log

scales.
-

+
v
(t)

jL
)cc

C
-

-

_
_
_
_
_
_

R
2=
l2kQ

+
3

v0(t)

(2)
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Problem
5:(lopts)

Forf=
1, 10,100,

1k,10k,and
100k

Hz,find
the

outputvoltage
as

V
0
(t)

=
A
cos(2nft

+
c)
w
here

c
is the

phase
ifthe

inputvoltage
is

j-rr/
V
,(t)

=
10
cos(2nft

+
ff13)

=

4
J
U
)L

L
=
lO
nH

V
,(t)

v:

+

v0(t)
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Problem
6: (lO

pts)
Find

the
outputvoltage

as

V
0
(t)=

A
cos(2nft

+
c)
w
here

c
isthe

phase
ifthe

inputvoltage
is

V1,(t) =
1O
2
cos(2irf1

t
+ir/3),f, =

1, 10,100,
1k,10k,and

100k
Hz

L
y
q
c
c
f
C
v
t±

cm
:tp1;

3
4
4
f
W
h
f
l

+
L

c
p
c
J
2

V
(t)

R
o
’

(+
+
\*
)

V
3L4)

k

L
=
lO
nH

+
j

v0(t)




